(2009 11 A &7 7 7 KKK

AL XY ST ERR 337 — DX (No.1 )
ACTIVITY (£8) — A ACTIVITY (375 — A £ B OB RN BB ﬁ B | sy ﬁ L i
R 737 4% gﬁig (5 A) (R &) LU0 (&5 A) (R &) HYD 5| HEE | ) BERH BHH K B #H| sz B | e
wal & m |lem| 2 = B wal om lem] Ao | A Flase| A | & %g(é’lﬁ*) A IRSCONN 3 [PYC) FYYS 0y PN (PP (PR OC0 YR P50y PFETY O (PR O s g P
mll|E U B (12/3] 4 104,350( 25 5,084,472 87,257 1 70| 16 779.0 12.2 62 0 |[0]Of 64 1 83.8 ofofoO]JOjfOfO|O]|O}O(f240f OJO]jJOf[OfO]O
% B R R 12/1] 5 93,920| 15 763,590 18,624| 2 869.0| 6 1,050.0 25.6 40 11 0 jf0]0f 41 4 85.1 ofofojojfofOoO|fO|jOjjoOf64fO|JO]JO[OfO]O
= = UN & (11727 0 0| 3 43,100 1,724] 0 0.0 3 89.0 3.6 25 0O OfOf0] 25 3 80.0 ofofoO]JOjfOfO|O]|O}O(289f 0OjJOjOf[OfO]O
R R B OB |111/27] 4 174,500( 12 415,922 12,233| 2 265.0| 7 399.0 1.7 32 2 | 0jof0|f 34 0 85.0 ofofojojfofofojojfofoffojojofofo]o
W& O |11/25) 2 20,354| 8 135,134 8,445| 1 490| 2 127.0 79| 16 0O OfoOf0)| 16 0 65.6 ofofojojfofo|jfojojfofoOoffojojofOfoOo]oO
z & ) — | 15 393,124| 63 6,942,218 38,567| 6 | 1,190.0| 34 24440 136 175 | 5 | 0 ||O[O|f 180 | 8 79(sjo0fofjojojfofofO)|jOjfO(3930|jO0OjOf[fOfO]O
B R P N | 12/3] 4 245,000 15 898,450 19,965 6 487.0] 12 845.5 18.8] 45 0O OfOf0)| 45 5 91.8 4951495 O | 0 ||495|495( O | 0 [|82|82| O [ O | O | O |[495(495
it 1 B 12/7]| 2 14,293 13 428,067 9,107 1 28.0( 5 131.0 28| 47 0O [ O fOf0) 47 1 62.7 ofofo0]oO ofoffojt1jfofojojojfofo

e W& h | 12/1) 2 270,050| 14 2,134,630 37,449| 1 159.0| 15 1,171.0 20.5 57 0 [ O (foOf0) 57 1 87.0 00O 0O 114000 | O

BeOR & | 12/2] 2 146,000| 11 584,270 18,847 1 28.0( 5 303.0 9.8 31 0 O0(fO0f0) 31 0 84.6 0O 0O ofofo0]oO
BEOROE OB fi | 12/1] 1 129,900 6 235,440 11,772| 0 0.0 3 53.0 26( 20 0O O0fO0f0) 20 2 68.7 ofofo0]oO ofofo ofofjojojfofoO
Z s — | 1 805,243| 59 4,280,857 21,404| 9 702.0( 40 2,503.5 125( 200 [ O | O [OfO} 200 | 9 79.0 [ 5 |495(495| 0 | O |[495(495( 0 | O |82 (197 O | O | O [ O (495|495
e & 4 1 |11/30] 2 23,000| 13 396,148 8,253 2 1440| 6 540.5 11.3] 48 0O OfOf0) 48 1 822 ofofojojfofo|jfOojoOojfofoOfojojofOfoO]oO
R S > % |[11/27) 6 | 1,761,000 35 4,225,020 69,262| O 0.0 19 1,939.0 31.8( 61 0O O0fo0]joO) 61 |23 81.1 ofofojojfofofojojfofrfojojofofo]o
R & | 12/3] 2 112,000 6 1,191,170)  27,072| 2 179.0| 8 323.7 74 42 2 | 0)0(0]f 44 1 65.4 ofofojojfofo|jfOojoOjfoOofOfojojoOofOfoO]oO
e R ) AT 74 |11/30] 2 24,160 8 195,490 5,749| 1 11.0] 5 154.0 4.5 34 1 1 (0)0f 34 2 60.0 of2lo0jojfof2(0j0fo0ofOffo]2]0f[O0fO0]2
zZ At ) — | 12| 1,920,160( 62 6,007,828 32,127| 5 334.0| 38 2,957.2 15.8] 185 | 3 1 {0)0f 187 | 27 722(4)0f(2|0)jO0jfOf2|0jO0ffOfT1TffO]2]0[O0OfO0]2
n 1H: M (12/4| 0 0| 8 99,405 2,761 0 0.0f 6 147.0 4.1f 36 0O OfOf0)] 36 0 66.6 ofofojojfoOofO|O]|JO}fOf93f0ojOjOfOffO]O
i Wiy | 12/4 | 1 7,266| 7 394,286 8,761| O 0.0 62.0 1.4( 45 0O OfOf0)| 45 0 76.6 ofofojojfofo|jfojoOojfofoOffojojofOfoOo]oO
I i 11/25( 0 0] 7 235,790 5125| 2 48.0( 10 189.0 4.1( 46 0O [ O(fOf0)| 46 4 75.0 ofofojojfoOofO|O]|JO}fOf93f0ojOjOfOffO]O
N L |11/30] 1 30,000| 6 105,124 3,893| 2 6.0 52.0 1.9 27 0 [ O foOf0) 27 2 71.4 ofofojojfoOofO|O]|JO}jOf62fO|JO]jJOf[OfO]O
& g | 12/5] 0 0] 11 225,400 6,830| O 0.0 99.5 3.0 33 0 O fOf0) 33 6 72.7 ofofojojfofo|jfojojfofa4ffojojofoOfoOo]oO
ifi P a4 11/21( 0 0| 3 56,840 1,894 2 11.0] 10 71.0 2.6( 30 0O O0fO0f0) 30 3 74.0 ofofojojfoOofO|O]|JO}fOf29ff0jJOjOf[fOfO]O
E A 1273 0 0] 3 49,070 2,726| 2 273.0 342.5 19.0f 18 0O O (fOfo0) 18 1 71.17 ofofojojfofo|jfojojfof6fOojOojOfOfoO]oO
pl B |[12/3 0 0| 4 118,370 3,945| 1 130 5 100.5 3.4 30 0O O0fO0f0) 30 1 55.0 ofofojojfofOo|fO]|jOfoOf87fO0O]jJO]jOf[OfO]O
Ho@E R f11/29] 0 0] 3 52,130 2,369| 1 240( 2 36.0 1.6 22 1 1(0]0f 22 3 77.2 ofofojojfofofojojfofoffojojofofo]o
Z i ) — 2 37,266( 52 1,336,415 4,656] 10 375.0| 52 1,105.5 39| 287 | 1 1 (0]0f 287 | 20 nsgfg9jofofojojfofofojoyjfof374o0jo0ojoOofOfO]O
£ K #112/1] 0 0| 4 172,306 3,313 1 10.5| 4 260.5 5.0 52 0 O0fOf0) 52 91.3 ofofO]JOjfOfO|O]|O}|O(f159fO0ojO]jOf[OffO]O
AR - AR K B |[12/3] 1 20,000| 6 419,070 22,056 O 0.0 178.5 9.4 19 0O OfoOfo0)| 19 57.8 ofofojojfofo|jfOojoOjfoOofOfojojoOofOfoO]oO
W% — 11/30] 1 107,380 8 444,970 7,541 2 889.0| 7 1,298.0 22.0f 60 O 1 (O0f0] 59 93.2 0Of[O0[O]|]O]fO[O|O]|O|S54[54f0OjJO]jJO[OfO]O
il i jf12/7( 0 0| 8 127,130 6,356| 3 17.0| 5 58.9 29( 20 0O O0fO0f0) 20 2 72.5 ofofojojfofo|jfojoOojfofoOffojojofOfoOo]oO
z & ) — 2 127,380( 26 1,163,476 7,756 6 916.5| 21 1,795.5 120 151 | O | 1 |JO[O}f 150 | 12 77(4)J0(0|O0|]O0O]fO[O|[O0O]|O0O|S54(f213) 0|jJO0O]jJO0Of[OfO]O
B Z W |[12/2] 0 0| 3 34,510 1,725| 3 415| 16 437.0 21.9 20 0O O0fO0f0) 20 3 65.0 ofofojojofofojojoO ofofojojfofoO
I W 11/30] 2 | 1,644,520 19 3,111,433| 31,749| 4 509.0| 14 1,352.0 13.8 98 0O O0fO0|0) 98 |24 90.0 ofofojojfoOofO|O]|JO}fOf102fOojOjOfOffO]O
W = o £ [[12/4] 2 30,000 90,180 6,441 3 340( 8 79.0 5.6 14 O OfoOfo0) 14 0 71.4 ofofojojofofo]joO]oO ofofjojojfofoO
By - T BF|12/1] 0 0| 4 36,420 3,035 1 10.5| 6 127.8 107 14 0 2 (1|[0) 12 1 81.4 ofofojojofofojoyjo ofofjojojfofo
JIW 72T L Z |12/2( 0 0 48,180 3,212 3 66.5( 15 2420 16.1f 15 0O Ofojo) 15 [ 15 86.6 ofofojojofofoOo]joOj|oO ofofojojfofoO
z Ao — 4 | 1,674,520 38 3,320,723| 20,885| 14 661.5| 59 2,231.8 141 161 | O | 2 ||1[0}f 159 | 43 79(5)J]0f0|lO0OjO0OfOfOfO)|)O)fO(f102f OJO]jJOf[OfO]O




(2009% 11 A4 &7 7 7 KK
AL XY ST ERRH&337— DX (No.2 )
ACTIVITY (£8) — A ACTIVITY (375 — A £ B OB RN BB ﬁ B | sy ﬁ L i
Rlz| 4 5 74 gﬁig (5 A) (R &) LU0 (&5 A) (R &) HYD 5| HEE | ) BERH BHH K B #H| sz B | e
wal & m |lem| 2 = B wal om lem] Ao | A Flase| A | & %g(é’lﬁl*) A IRSCONN 3 [PYC) FYYS 0y PN (PP (PR OC0 YR P50y PFETY O (PR O s g P
m7|H K 11/30[ O 0| 4 355,250 6,702| 2 10.5] 12 186.3 3.9 52 1] 0f0]0f 53 4 61.3 ofofojojfofo|jfOojoOojfofoOfojojofOfoOo]oO
% gl UN ' 12/4] 0 0] 5 114,170 3,357 3 86.0( 13 433.5 12.8] 34 0O O0fO0f|0) 34 2 55.8 O[O0O[O]|]O]O([O| O] O}150[295f 0|JO]jOf[OfO]O
E (F % (11/30] 2 174,720 9 747,715 16,254| 2 9.0| 10 156.0 3.4{ 46 0O O(fOf0] 46 7 AN ofofojojfofo|jfOojoOjfoOofOfojojoOofOfoO]oO
& B (11/30] 2 100,000| 10 1,250,490 34,735| 1 162.0| 3 2120 59| 36 0O OfOf0)] 36 0 62.5 ofofojojfofoOo|(fO]|jOfoOf33fojojoOofOfoOo]oO
( Z i ) - 4 274,720 28 2,467,625 14,601| 8 267.5| 38 987.8 58| 168 | 1 0 |[0]Of 169 | 13 628(4J0f(0|O0O|O0Oj]fOfO|O]| O}150(328 O| O] O|[OfO]O
8 5y % A |[11/30[ O 0] 7 388,860 5982| 0 0.0 5 4120 6.3| 65 0O O0(fO0f0)] 65 4 91.5 ofofojojfoOofO|O]|jO}fOf157f OjJO]jJOf[OfO]O
ar | 12/4| O 0] 0 0 0] O 00 O 0.0 o.of 11 0O O foOfo) 11 0 72.1 ofofojojfofo|jfOjOjfoOofOfojoOojOofOfoO]O
b B(12/2] 1 33,000| 4 90,208 3,469| 1 102.5| 3 158.5 6.1| 26 0O O(fOf0] 26 2 98.0 ofolojoOojfoOfO|O0O]|]O}fO([S3)f 0] 0] O[O 1000|1000
% AK12/5( 1 16,800 5 96,690 7437 2 180 5 37.0 28| 13 0O OfoOfo0) 13 0 84.6 ofofo]jJoOjfOfO|O]|]O}33f33ff0ojoOjOfOffO]O
i JIL|{12/7] O 0] 5 91,820 13,117 0 0.0f 3 24.0 34| 8 0O 1 {ojo| 7 0 100.0 ofofojojfofofojojfofoffojojofofo]o
hn s A |11/30[ O 0| 4 56,660 2,698| 0 0.0 2 57.0 27| 21 0 O foOf0) 21 1 88.0 ofofojojfoOofO|O]|JO}fOf8OfOo|jOjOf[fOffO]O
5y N KB |(11/30[ 0 0] 0 0 0] 4 202.0| 23 731.0 31.8[ 24 0O 1 (O0f0) 23 4 87.5 ofofojojfofofojojfofoffojojofofo]o
( Z At ) - 2 49,800| 25 724,238 4,362 7 322.5| 41 1,419.5 86| 168 | O [ 2 |[O]|Of 166 | 11 889|7]0|0(0]|0)JO]O0O[O0O]|0]33|323(0 0| O] O |ftooof1000
9| K R 12/3] 1 30,000 7 105,095 3,892 1 100| 6 72.0 27| 26 11 0j0jof 27 1 84.3 ofofojojfofo|jfojojfofoffojojofofo]o
QES # |[11/30 2 14,324 12 244,352 9,398| 2 185.5| 7 307.0 11.8] 26 0O OfOf0] 26 1 82.6 oOofof[fO]O]fOfO|O0O]| Oft103f103f 0jO0OjOf[OfO]O
& A & |12/1] 2 213,504| 9 306,742 10,577| 4 260.0| 17 541.0 18.7] 29 0 OfOf0] 29 0 84.4 ofofojoOojfoOfO|0O]|]0O}|37(37({ 0] 0] 0] 0f(120]120
St | 12/4| 5 162,000( 13 268,211 11,661| 4 304.5| 13 508.5 22.1( 23 0O OfoOf0)] 23 0 95.6 ofofojojfofo|fO]|jO|4[4fO0O)O0O]O0|O0(50]50
( z i) — |10 419,828 41 924,400 8,803| 11 760.0( 43 1,428.5 136) 104 [ 1 | 0 ||O[O|f 105 | 2 86.7(410(0| 0| O0O]fO[O|O]| O}|144(144( O | O | O | O f170|170
10{ K 11/30[ O 0| 4 36,630 3,663 2 350( 5 65.9 6.5 10 0O O0fo0f0) 10 1 80.0 ofofojojfofoOo|jfO|jO}f6[6f[O0OJO]JO[OfO]|O
ay: B2 |[11/30] 2 176,600( 12 783,540 12,054| 0 0.0f 6 334.0 5.1 65 0O O (fOf0)] 65 0 86.9 ofofojojfofO|O]|jO}fOf98f0ojOjOfOfO]O
KARE - R 5 ([12/72] 5 708,200 8 738,650 49,243| 0 0.0 2 24.0 1.6 15 0O OfoOfo0)] 15 0 90.0 ofofojojfofo|jfOojoOojfofoOfojojofOfoOo]oO
R H —|12/2] 1 29,238| 9 114,242 5192| 1 60.0( 2 207.0 94 22 0 O0fOf0) 22 0 70.4 ofofojojfofo|fojojfoOof37f{ojojofofo]o
K« HO# B (11/27] 0 0] 2 19,890 1,530| 0 0.0 1 24.0 1.8 13 0O OfoOfo0) 13 2 53.8 ofofojojfofo|jfOojoOojfofoOffojojofOfoOo]oO
( z i — 8 914,038 35 1,692,952 13,543| 3 95.0( 16 654.5 52| 125 | 0 | O |[O|Of 125 | 3 762(s5j0fo0|lo0ojO0jfOfOfO)|)OY)6(f141f OJO]JO[OfO]O
11| = W 11/30] O 0] 2 41,310 1,652| 3 130.0| 6 208.5 8.3| 26 O 1 (Of0] 25 0 53.8 ofofojojfofo|fO]|jO}foOf1OfOjJO]jOf[fOfO]O
aK: Z | 12/3| 0 0] 1 56,000 1,750| 1 38.0 1 38.0 1.2 31 11 0 jf0jof 32 4 70.3 ofofojojfofofojojfofoffojojofofo]o
24 Wi |11/25) 1 44,800 7 407,440 5991| O 0.0( 6 282.5 42 68 0O O(fOf0)| 68 1 83.0 ofofojoOojfoOfO|O]|O}O(f726f 0O|J0O]JO0O[O0OfO]O
ook BROEb | 12/7] 2 300,000 5 419,370 13,979 1 440| 3 187.5 6.2 30 0 O0(fO0f0) 30 3 71.6 ofofojojfofofojojfofoffojojofofo]o
5- i | 12/1| O 0| 3 61,540 3,846| 1 9.0| 2 19.0 1.2 16 0O OfoOf0)| 16 0 62.5 ofofojojfofo|jfOojoOojfofoOfojojofOfoOo]oO
E H12/5( 1 69,551| 1 69,551 2318| 0 0.0 O 0.0 0.0ff 30 0 O0(fO0f0) 30 2 81.6 ofofojojfofofojojfofoffojojofofo]o
% Fl|12/4] O 0| 4 100,190 3,853| 8 16.0| 45 108.0 42| 26 0O OfOf0] 26 0 75.0 ofofojojfofo|jfOojoOojfofoOffojojofOfoOo]oO
( z i — 4 414,351 23 1,155,401 5,089| 14 237.0| 63 843.5 37| 227 | 1 1 40]0f 227 | 10 nif7pofofojojfofofojoyjfof76fojojofofoj]o
MERBR &8 — | 74| 7,030,430(452( 30,016,133 15,353| 93 | 5,861.0/445| 18,3773 9.4(11,951 [ 12 [ 8 [[1]0/ 1,955 158 76.9 | 591495|497| 0 | O (|495(497| O | O ||469|3152) O [ 2 | O | O |1665|1667




(20094 11H &

& 7

\

7 B & R )

FAA L XY 5T ER =337 —DIX (No.3)

ACTIVITY (£8) — A ACTIVITY (375 — A £ B OB RN ﬁ BB ﬁ B | sy ﬁ L i
Rlz| 4 5 74 %fé (5 A) (2 & LYD (&5 A) (2 & HYD B EEE S B8R - BHEY K B #H| sz O K
wal & m |lem| 2 = T OB | Ao el Aom | AN Flaen| A | & x g wan | & | 0 | #|un| | un| e un v | un | ve|un | we | un | we | un | e un | 2
ml|= F|12/3| 2 205,000 7 268,540 14,133| 0 0.0 2 12.5 0.7 19 0O OfoOfo0)] 19 2 61.7 ofofojojfofo|jfOojoOojfofoOfojojofOfoO]oO
7 % g 12/1] 1 300,000 13 1,398,200) 34,955| 2 58.0( 8 230.0 5.8 40 0 O0(O0f0) 40 0 83.7 ofofojojfofo|jfojojfofoffojojofofo]o
# £ Jif12/1f 1 1,000] 12 413,450 13,781 2 14.0| 16 419.0 14.0f 30 0O O0fO0f0) 30 3 78.3 ofofojojfoOofO|O]|JO}jOf6OffOjJO]jOf[OfO]O
I8 G- BAEJI|12/1] 0 0] 9 138,540 7,291 0 0.0f 6 64.0 34 20 O 1 (Of0) 19 3 70.0 ofofojojfofoOo|jfO|joOjfjoOof6OfOojO]jOf[fOfO]O
i i H(12/4( 0 0| 3 40,600 2,030 1 63.0( 3 90.0 4.5 20 0O O0fO0f0) 20 0 62.5 ofofO]JOjfOfO|O]|]O|S(f50fojojofOfoOo]oO
B 1 111/30] 1 20,000| 11 208,149 8,672| 2 270 3 43.0 1.8 24 0O O0fO0f|0) 24 4 50.0 ofofojojfofoO|fO]|jO}joOf47f0O)JO]jJOf[OfO]O
it £ (12/7] 0 0] 2 30,600 1,530| 1 18.0| 3 174.0 8.7 20 0O O0fO0f0) 20 5 37.5 ofofojojfofo|jfOojoOojfofoOfojojofOfoOo]oO
( z s — 5 526,000( 57 2,498,079 14,523| 8 180.0| 41 1,032.5 6.0(| 173 | O [ 1 |[O)Of 172 | 17 634(7]0(0|O0O|JO0fOfOf[O]|]OYS0(f217f OJO]JOf[OfO]O
MifEF—=2 h [112/3] 0 0| 4 26,270 3,283| 0 0.0 4 35.0 44] 8 O Ofojo| 8 1 62.5 ofofojojfofo|jfOojoOojfoOof3fojojofOfoOo]oO
B - %KW [11/30[ O 0] 3 66,532 3,024| 1 90.0( 5 415.0 189 22 0 O0fOf0) 22 1 90.9 Of0[O]JO]fOf[O|O]|O|S6[56f0|O0O]O0O[O0OfO]O
M w1 12/3] 1 30,000| 14 322,710 8,721 1 20.0 12 351.0 9.5|| 37 0 O foOf0) 37 1 87.8 ofofojojfoOofO|O]|jO}fO(f38fOo|S5]|]0[O0OfO]O
A - WA |12/1] 1 10,000 4 40,600 2,255| 1 30.0( 2 82.5 4.6( 18 0 O (fOfo0) 18 1 86.1 ofofojojfoOofO|O]|JO}fOf34f0ojOjOf[fOffO]O
[i] K| 12/4( O 0] 0 0 0] 0 0.0 O 0.0 o.0f 13 0O O foOfo0) 13 1 100.0 ofofojojfofo|jfOojoOojfofoOfojojofOfoO]oO
oW T 72 Z||11/30] 0 0| 14 430,979 10,511 1 20.0 10 148.0 3.6| 41 0 O0(fO0f0) 41 0 91.4 ofofojojfofo|fojoOojfoOof37fojojofofo]oO
Wik v = A N|12/2] 0 0| 8 102,070 4437| 0 0.0f 8 70.0 3.0 23 0O OfoOf0)] 23 4 91.3 ofofojojfoOofO|O]|jO}fOf37{f0]|4])j0[O0OfO0]O
( Z & ) — 2 40,000| 47 989,161 6,105| 4 160.0| 41 1,101.5 68| 162 | O [ O |[O]|Of 162 | 9 8717100l O0O|]O0O]fO[O|[O0O)|O0O|S56(20510]|9]0[O0fO]O
s o k1127 1 3,333| 7 62,753 4,482| 1 50| 4 270 1.9 14 O OfoOfo0) 14 0 89.2 ofofojJoOojfoOfO|O]|O}21(42ff0|JO]jJOf[OfO]O
Al # ef12/1| 3 23,333| 15 503,133 11,979 1 18.0| 6 142.0 34| 42 0O O fOf0) 42 1 88.0 ofofojojfofo|jojojfof41fO0ojOjOf[fOfoO]S3
o # sr AL [|11/26] 3 393,680| 11 1,166,870) 48,619| 1 26.3| 7 201.8 8.4 24 O OfoOf|0) 24 1 56.2 ofofojojfofo|fO]|jO}fOf14fOjJOjJOf[OfO]O
i i (|11/27] 4 32,720| 14 389,828 8,662| 4 101.0] 15 487.0 10.8] 44 1 0 |[0]Of 45 3 91.0 ojojofoffojojofoffo|754p0j0f0|j0)JO0]O0
AN #H thj11/27) 1 3,333| 9 409,733 9,312| 2 117.0] 5 201.0 46| 44 O OfO0f0) 44 3 78.4 ojojojoffofofojoj|72|72f0of0[0]j0O)JO]|O
=1 a11/27) 2 237,333| 8 514,728 16,604| 4 58.0( 10 457.0 147 30 1 0 (0|0 31 0 87.0 ofo0ofO]JOjfOfO|O]|O}|63f122f O|JO0O]jJO0O[OfO]O
AR # FA [[11/26[ 1 3,333| 3 12,513 2,085 0 0.0 2 2490 415 6 O OfoOjoO| 6 2 83.3 ofofojojfofo|foOjoOjfoOf11fojojofofo]o
ARy T 0 [112/3] 1 3,333 6 207,813 15,985| 2 10.0| 3 24.0 1.8 16 0 3 (o0fo0) 13 5 88.4 ofofojojfofofojoOft1rf1ifojojofoOfo]oO
o AL W |[12/5] 0 0] 2 21,420 1,647| 0 0.0 4 22.0 1.7 13 0O OfoOfo0) 13 4 88.4 ofofojojfofo|fO]|jOft1tf11fojojofoOfo]oO
( z i)l — | 16 700,398| 75 3,288,791 14,175 15 335.3| 956 1,810.8 78] 233 [ 2 | 3 (0[O0 232 | 19 833(9jJo0f(f0|O0OjOjfOfO|O]| Ojt178{399 0| O0O]Of[OfO]3
W@ R SR — | 23| 1,266,398( 179 6,776,031 11,971 27 675.3| 138 3,944.8 70| 568 [ 2 [ 4 [[O|O| 566 | 45 78023 0 (0| O0O)|OfOfO| O] O]}284f821f O| 9| O[O O0O] 3
H X & — | 97 | 8,296,828 [ 631| 36,792,164 | 14,594 [ 120| 6,536.3| 583| 22,322.1 8.9(12,519 | 14 [ 12f 1| 0 2,521 | 203 774 | 82]495(497| 0 | O (495497 O | O 7533973 O | 11| O [ O (1665|1670
( R o) (778 | (0AKRKE¥) | AULA) |EQ1A) |LIARRER | 8 B % | MESAR/MEECAR) (ATA~11A) | BOA~1H) (I1AR=BE GBI B H) RGETEY -
W R 59 | 1,951 12 8 | 1,955 +4 1905 | 128 78 1,955 +50
BRI N1 23 568 2 4 566 -2 5604 36 34 566 +2 4
(# X & 3 82 () 2,519%) 14(%) 12 %) 2,521 4, +2 ) 2,469 4) 164%) 112 ) 2,521 x) +52 (4
A B B S (v R U — Lo R) IR {@[’3%%2!:%!3/\- . -%H%%ﬂ%% LIFFAX : %ﬂzoﬁi@ S ErIA ‘/(WMMR? : H A RFAIFRIEZ
@AM FVE - XY Ry b~ » BAZEFTA (ServannA) : BAGAE




